EARAROBEEIERT — 2 N— IBISH —F

20185F3A4H (B) 1mE/)\&E8H

m#3%4ﬁi 500ATF U[UET] & ‘ [X] % ‘ [eErE] - | 4 (&) 24000 B
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N A :33. 22— . . BEHL (ER
UXH 44 A— 5 =l 2(3_3)6 2-2-2-2 | 40.0| 98.8 | 3 ig? R O
XD THANAN B:)FHLELTT o ENcEe]
= s FIUTR :34. -12-10- . . HER (EX)
@7 =51 44 il 2(3(;1)6 14-12-10-9 | 39.1 | 89.9 | 2 (4_5;0) e
LY —N—F B:7 4-TJ X e rae ]
NN .= . FREFERE : ~15-9- KPIETE (E#)
N ALY TSy R # 5 s 2(.13/42.>7 15-15-9-7 | 39.5 | 89.4 | 7 &4) it (
LN=VITTA BXLTXTY IS H LS
=3 4 5 | FRIEAE 2:35.1 5-5-5-4 | 40.6 | 87.0 | 5 494 | EREME= (E3H)
HeIATIFLY 2550 a o | B miks
R:hxex) B:¥avINEXRZ BFN4E
= # o5 | AN 2:35.5 13-12-13-12| 39.7 | 82.9 | 13 | 452 |EBMRPA (EiH)
5/5(10| 77 A7 7 b 57.0 21/2) o) |ER B
R:iVZAE—IZAE— B:L—>F4 hXT— LYV T 7 — L
= o [0 0% o EXRE :35. -9-13- . . TEBX (EXR)
5 eI 44 g (21315/47) 9-9-13-12 | 40.0 | 81.5 | 15 &2) s
L:Hv—N—F B:T71—-L¥T7> =E R
o « e = FH B : -8-10- MALE (FEX)
2yl |7 kavra— o4 R 2(.13/52.>8 7-8-10-11 [ 40.4| 81.0 | 10 ?5)2 IIIEEE:-?T¥(
b7t K B:5TNILT Bk JiE—
= v ARBTG5t : -9-7- SeHBA (E#)
slzlis| vrror1519> [B] o4 g 2(/3%5 10-9-7-7 [40.7| 81.3 | 9 ;1_7“2) e
R:AX—b77)a> BIILYINRT—Y BRI 7L
- s BERRRE R :35. -1-1- . . M EEFM (EH)
9 6 Y4 RKFLLT [B] H o4 = 2(33/54)9 1-1-1-1 42.7 | 83.0 1 ?8;3 el
LNMLVTSY BFLTIRT)— FEHIS
s = BEHE%EtF :36. —-3-4- . . FEEME (ER
1017114 ®TL>RISINL 4 5 R 2(326)3 3-3-4-4 | 42.1] 79.2 | 4 (fg) g
R:Nd B:a2YyxeXx w5 EEB
N [iim}2 : -3-3- BEHL (E#
a1l 7a7Ls=T0 i o4 i 2(73?:;% 3-3-3-3 |42.2|79.3| 8 zzgz; A (
:T7—=0T74—X B:TATLNI /7T =Sl
S 4 6 | HPRE 2:36.4 7-7-5-4 | 41.9| 78.1 | 1 508 | EEFEE (RR)
12/8|16| @ > 7% 57.0 (7€) o) | R ESHTU-g-x -2z
LNRVTSY BYURIZT—F [Ever]
# o4 | PAUEEK 2:36.8 5-5-7-9 | 41.7| 74.7 | 12 | 482 |EERE (FR)
13/8{15| V1 - XL IT 6.0 2172 o | MAEEE
R:OA-J X121 B: 74> 71— il SEEA
. . > MBS . _10_1E_ gL 5
14 4| @TLY 1 F—t [B] > 6 Jsﬂ?i%ﬂz 2.(327).1 12-12-15-15| 41.0 | 71.1 | 14 tg? %g;l (=)
RN=YIFL4 B:E1TTIY 1- NETHS
. LR sE : -9-10- MKER (ER)
1515]g| 7H—2T 1 —I K i 6 b (21317/53 10-9-10-12 | 41.9| 71.1 | 6 ;1_328) g/:ﬁ; (
L:Er/0704 BIAMYETAUH—F AVF LTy =L
AR :38. -16-16- . . REEIETE (3E7#)
16 5| @LATA Y 6 b 2(?3)9 16-16-16-16| 41.7 | 58.2 | 16 (4;0) R
Rk IAfO— B:UNZ—F HHZ &y K
@ 71 L
) 53.0-40.4
NA>ZA L | 12.7-11.3-12.1-12.7-12.7-13.2-13.1-12.8-12.6-13.3-13.5-13.6
® I —F—@EBIERL
13—7F— | 6=11(2,14) (12,15) (1,16)-7(9,13)4,10-8-3=5
2= = 6=11-(2,14)-(12,15)16,1(7,9,13)-(10,4,8)-3=5
Gol=5r= 6-11-2,14(12,16)-(15,13)3(1,9,8) (7,10) -4=5
40—+— (¥6,11)=2(12,14,16)-(13,3) (15,8)1(7,9,10)-4=5
[ N3
B O 1 730H 714K 8-11 920M e E 4-6 1,520 JEHE 3-8-11 14,390M
8 B 1 260M 3-11 1,920H B = 8-11 2,370 B 11-8-3 63,530
8 200 3-8 2,170 B H 11-8 4,920
8 420M

ABICOVWTRDTEEERROODE. TR LIV,




